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D S e, Miss Goat: It's a fine day today. Let's go

MFTHEHIE H ERE A FAEIHE,
Mum: Tim. Look at this giraffe. It eats
vegetables.
Tim: It's so big and tall. (1)
Mum: Maybe 5 metres tall. (2)___
Tim: Wow!
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£y oo o3 Mum: There are more animals over there. But | think the giraffe
= !ﬂlﬁ% to the park, OK? is the tallest animal in the zoo. ’
Mr Camel: Good idea. Tim: Mum. Look at those elephants.
Miss Goat: 'm 1.1 metres. How tall are you? Mum: Guess. How tall is the mother elephant?
Mr Camel: 'm 2.4 metres. Wow! Fresh leaves! You see, I'm Tim: (3)
taller than you. | can get the leaves. Mum: Hey. (4) It is so cute and shy.
Miss Goat: Me too! | can jump. | can get the leaves too! Tim: Yes. I'm taller than the baby elephant.
Mr Camel: Haha! You can't. Mum: (5)
Miss Goat: I'm shorter than you. But | can eat the fresh grass in Tim: I'm 1.66 metres.
the hole. Can you? A. Maybe 2 metres tall.
Mr Camel: I'd like to have a try! ( B. It's taller than both of us together.
Miss Goat: Haha! You can't. 5 C. How tall is it?
Mr Camel: | can eat the fresh leaves on the tree. I'm better than D. How tall are you, Tim?
you. : E. This baby elephant isn't tall.
Miss Goat: | can eat the fresh grass in the hole. I'm better than
you. _ PPy
Tree: OK! I'm older than both of you together. | think Miss Goat is ' xﬁ&%
shorter. But you can get the grass in the hole. Mr Camel is ag
taller. And you can get the leaves on the tree. Every dog has 1 A. giraffe
its day. Y.
I. Read and judge with “T”and “F”. :. "
( )1. Miss Goat and Mr Camel are in the park. o
(' )2. Mr Camel is shorter than Miss Goat. B. kangaroo
( )3. Mr Camel is older than both of Miss Goat and Tree. .
. Match these animals
( )4. Miss Goat can get the fresh leaves on the tree. i e i s
( )5. Mr Camel can get the fresh grass in the hole. C. elephant
II. Read and choose.
( )1. What is “Camel”?
A KHE B. %3¢ C. &% D. dinosaur
(' )2. What does the underlined word “better” mean?
A. Zi5a B. &4FaY C. £ £
( )3. “Every dog has its day” means .
A FF—RPAHAHG—R B AAMA R E oy aHE 'E{' "
C. fRAHL—R &3 E. crocodile

B'& '
Look here, everyone! The animals are having a running race. Who can
be the winner? Wow! The monkey runs quickly. He may be the winner.

There are five differences between the two pictures. Please find them
Have a good time!

S . |
AuFE2 A running race

out!

>

_ iﬂi}]; ? Do a survey and
~ = : write. (IR MCE A,

Ul B RGOS, I FA B )

B L — L. )

Name Age Height
Li Siqi 11 1.64 m
Wang Yan 12 1.63 m

For example:
Li Siqi is younger than Wang Yan.
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Dylan and the aliens

Dylan is a 10-year-old boy. He is short and fat. He is 1.45 metres. ¢
He goes out with his father. His father is an archaeologist(# & % ). |.:
He studies dinosaurs.
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& LI
Why does; our hair turn white
when we

One day, Dylan plays in the
forest. He sees a UFO in the '_
sky. He is excited. The UFO
fies down and lands on the §
grass. Dylan wants to see it, so
he runs to it.

A NN A

The door opens, and two

‘ aliens come out of the UFO. One
is wearing purple clothes. He is
taller than the other. He is
younger. And his arms are longer
than his legs. He has a very big
eye. The other alien is older. He
- A wears a pair of glasses. And he
is shorter than the first one. His arms are shorter, too. Dylan
is surprised to see the two aliens.

Dylan tries to say something

with the two aliens. But they TEfT 25 /N N L2 —
can’t understand him. Finally, WE AR
Dylan has an idea. He will take Are these people

the two aliens to his father.
Maybe his father can help. On
the way home, Dylan plays with
the two aliens. They become
good friends. What a fun day!

So why do they look so
big? It's because they are
in a miniature (% % 49 )
park. It is Madurodam

[Have a try ]Read and judge with “T” and “F”.
( )1. The alien in purple is shorter than the other alien.
( )2. The alien with glasses is older.

(# 2).

L % T (AMALAELTHPE)

» Nice

0 Meet yoy agai
ai
ekl More olo gain. Ney, term,

and haye fun!

giants? No, they are not. g

(%48 % JF # 4 ). The )
park is in the Netherlands |
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urful knOWIedge is

Our hair has a kind of
pigment (&%). It is called
melanin (£ &%). Melanin
gives our hair a black
colour. When we get older,
the pigment cells die. The
hair has less melanin. It
turns white or gray.
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1. younger and older
younger EFEH
BS%%: youngest & F 4249
X RZiR): older # 4K o
1512 : young(<F % 9 )+er=younger
(B 4-4210Y)
older EEKH
BB oldest F &K
HMim: #86
1512 : old (4 K 9 )+er=older( £ F K 49)
541 : Mr grandma is younger than my grandpa.
AT L R ALK 42
| am older than Amy. & LXK FK
2. taller and shorter
taller E 5/
B tallest 5%
¥t RziR): shorter & 454
1518 : tall(% 49 )+er=taller( £ % #4)
shorter &R
B 5% shortest &4
1518 : short(4% 49 )+er=shorter( & 4 49)
54 : Mr brother is taller than me. & FF &3
My sister is shorter than Kelly. & ¥k%k Fb3LA 4
3. longer and shorter
longer E1KH) i
B4 :longest &%k
1512 :long (% #9)+er=longer( & % #9)
shorter E5EHY
=2 shortest k4249
1518 : short(42 44 )+er=shorter( & 42 #9)
54 : My ruler is longer than yours. 2% #) R F ety RF %,
My pencil is shorter than hers. #9452 e 45 £.42
/MR EF |HFFARNELERES,
1. Ann is (tall) and (young) than Judy.
(long) than his.
(old) than my grandfather.
(short) than the building.
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2. Her legs are
3. His grandfather is
4. The tree is
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Lt 44 +than
= &MaxX
1. 5] : Eif+be FiA-+E A LS +than+ LR XT 4.
| am taller than my sister. &}t % 6943k & -
2. M) Eifi+be Fhid+not+IE 4514 L J+than+ LB BTS2
.
He isn’t taller than John. #u RILZ#5,
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m How tall are you?
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1. 3 AR R AR S RRIEIREY
(18R F JThat's the tallest dinosaur in this hall. (P4)
[ BB LE | T iF+is the+ B 28 Al i Ji+ Hifth,
[R47 | = B = UL R A S it 2 B 2518 B B o
2. A A than fiEb B
[R5z A Jit's taller than both of us together. (P4)
[ @B 24 |A+be AL AT LY +than B.
[ B4R Ltk ) 78 32 2 T P o A 7 P
2 3% 56 il
Tim #1 Tom &P L, AN ANFE L RAEHFHE . IFAE
flfrIWg? FARE B M I 2 BB .

A

Tim is taller than Tom. Tom is shorter
and younger than Tim. #4748 3. H4
Yo AR 4R O BL YL g )

3. WiE XA & HHRE
[ ¥R Rz A JMike: How tall are you?

Zhang Peng: I'm 1.65 metres. (P4)
(AR ﬁ]llﬂ"l How tall are you?

B MBI EE R
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2 3% 56 Bl

WG, RZETIEFE RIS B . M, Jenny IEZE] John:

4_”,

] / I'm 1.64 metres.
\KF & 1.64 K,

3. — Bt %E () A : Be BhiA]+ FiF -+
an:
—Is the boy taller than his friend? iX A~ B 3% sb e 69 I A 5757
—Yes, he is./No, he isn't. Z 8,402, /| R, 4uRE,
4. FERRSEIRIA] . FRIRBEN] TR +be Bl1A)+E 25 1A LB +than+ EL 3 Y
ROE S IF
Who's taller than you? 4k &7
[/NMXEF |5 H T RAM LR,

2517 He 4 4% +than+ FL & %t 429

1. short 2. long
3. small 4. big

5. tall 6. young
7.old
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I T, EHRETIT R SR, (10 %)

( )1. A tall B. taller C. talk

( )2. A. longer B. long C. longest
( )3. A. big B. bigger C. biggest
( )4. A. think B. thank C. thin

( )5. A. size B. short C. shorter
I RE, RE R, (104)
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M. ﬂﬁi%,#ﬂ%‘l‘ﬁﬂ’ﬂ%'—-‘;ﬁﬁﬂm’qﬁm(T)’é.‘(F)#Efvro (10%)
( )1. That's the tallest dinosaur in this hall.
( )2. Maybe 4 metres.

( )3. They're all so big and tall.

( )4. You're older than me.

( )5. How tall are you?

V. TRE, A AFIE(T)HR(F), (1045)

( )1. Sarah, Kate and Amy are from China.
( )2. Sarah is shorter than Kate.

( )3. Kate is the shortest of the three.

( )4. Amy is younger than Sarah.

( )5. They are good friends.

Writing EETTIEEY

| i 5E& S RIRAETFREN—T (1045)
( )1. These children are taller than me.

A. clever B. older C. young
( )2. Look at the elephant. It's so big.

A. dinosaur B. tall C. metre
( )3. It’'s ten metres tall.

A. long B. tallest C. how
( )4. Both of us like dinosaurs.

A we B. them C. all
( )5. It's so tall!

A. heavy B. very C. than

Il FE, B H EBAAPLATF. (154)

1. The dog is
the elephant.

(shorter/taller) than

Rt KR SRR pE L AT B AL BE A1 EE21 & BB4R 030009 R FRMBZE xxbxx6@163com

3. Amy is

! 5. The cow is

2. The monkey’s tail is

¥
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Full marks: 100
Class:
Name:
Marks:

(shorter/
longer) than the rabbit’s.

(young/younger) than
Miss White. > %

4. The man is
than the boy.

(older/younger)

(bigger/smaller)

than the duck.

. NFFIEREFSERIRAIEENL, (155)

A. younger B.taller C.older D.longer E. shorter ‘

Look at my happy family. There are five people in my family. My
father is 1.8 metres. My grandfather is 1.75 metres. So my father is
(1) than my grandfather. My mother is 31 years old. My
father is 35 years old. So my mother is (2)
And she’s (3)
Bill. I'm (4)

than my father.
than my father, too. | have a little brother

than Bill. Look at my hair. It's (5) than

my brother’s.

IV. BEHE, #IET R FIE(T)IR(F), (2043)

John: Which dinosaur do you like?

Mark: | like the orange one.

John: How tall is it?

Mark: It's 3.5 metres.

John: | like the green dinosaur. It’s taller than the orange one. It's 5
metres.

Mark: Look! This is a yellow dinosaur. It isn’t tall. I'm taller than this
one.

John: How tall are you?

Mark: I'm 1.64 metres.
1. Mark likes the green dinosaur.

2. The orange dinosaur is 3.5 metres.

4. The yellow dinosaur is taller than the orange one.
5. Mark is 1.46 metres tall.

¢ )
¢ )
: ( )3. The green dinosaur is taller than the orange one.
)
¢ )
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